S5 1H 1 BEHAEN TR & A0

SR 75 A
8] 8] 8] 8]
0T 4 | §§A T T s | §§A T T s | §§A T T s | §§A —T—
B %W 1 T H 261 254 297 551| T~ #WiEI6 T H 533 540 518 1,058[%7 #7 7 T H 1,293 1, 550 1,422 2,972/ ART3 T H 215 243 214 457
B W2 T H 370 347 378 725(F - WEET6 T H 376 363 399 76208 BT 8 T H 682 778 646| 1, 424[/0 | 4,734 4,950 5,033 9,983
B W 3 T H 292 325 301 626 i 9, 669 9, 904 9,713 19,617/ BT 9 T H 1,320 1,371 1,092 2,463| (% E1T H 92 93 91 184
P45y ET 1T H 143 142 132 274[% e 595 629 646|  1,275[K JKHT 1T H 116 90 105 195| "R ZE2T H 338 356 362 718
795y ET 2 T H 96 89 77 166|% BT 1 T H 372 421 399 820(K /& T2 T H 512 536 514 1,050 " f=E3T H 294 311 321 632
794y BT 3 T H 132 148 164 312(%F BT 2 T H 695 689 708 1,397 2 9,718 10,691| 9,725 20,416/ {224 T H 124 111 121 232
fE T iy 283 251 259 510|% k- HT 3 T H 1,543 1, 400 1, 399 2,799 D BT 1T B 817 811 842 1,653 =251 H 88 101 94 195
A T 432 410 412 822(%F L M7 4 T H 792 768 731 1,499 30 WY 2 T H 315 338 303 641R 1 T H 85 68 72 140
fif iy 199 188 183 371K M 1 T H 882 980 927 1,907[{r ;D BT 3T H 244 257 254 IR H 2 T H 110 116 108 224
I T 129 106 119 225k P 2 T H 351 404 414 818[{ i M1 4 T H 788 696 690 1,386/} # 3 T H 123 112 105 217
7 T iy 180 205 201 406k M 3 T H 744 854 876 1, 730[{r D BT 5T H 774 706 725 1,431 & A H] 152 133 152 285
HE 1} 411 382 432 814t i 456 429 496 925\ 31 BT 6 T H 1,254  1,222| 1,225 2,447\ & 1 T H 46 35 37 72
K » W Hr 516 525 519 1, 044|% 53 501 547 543 1,090 A BT 7 T H 1,161 1,052 1,110 2,162 & 2 T H 62 56 54 110
W/ bk HT 309 280 278 558[AK #F T 1 T H 273 308 315 623|350 BT 8 T H 829 842 729 L5718 & (L 39 57 63 120
N Gl ) 517 504 502 1,006[Ax % T 2 T H 274 333 337 670\ 3 BT 9 T H 967 799 900 1, 699/ it 1, 553 1, 549 1,580 3,129
HmfmELTH 189 181 190 37114 s 1 T H 628 830 797 1, 627[{r A BT 10T H 980 794 767 1,661 M 17T H 299 220 243 463
HmfimE2T H 249 240 262 502[4 sF 2 T H 168 231 228 459 5 8,129  7,517| 7,545 15,062|% [ 2 T H 84 87 79 166
HmfHE3T B 327 370 359 72914 F 3 T H 396 514 447 9%LE B 1 T B 189 181 199 380|= [ 3 T H 171 139 126 265
2k 5,035  4,947| 5,065 10,0124 F 4 T H 628 745 718 1,463[# #E 2 T H 1,071 1,244  1,210|  2,454/hEAR1T H 103 95 102 197
B oA BT 1T H 238 256 259 515(4 F 5 T H 554 665 659 1,324[8 1% 3 T H 375 383 399 82N AR2T B 44 47 52 99
|ﬁl§@ AHT2 T H 355 353 352 705 2k 9,852| 10,747| 10,640 21,387|4 # 1 T H 1,414 1,440  1,464| 2,904/ AR3T H 169 177 175 352
B A RT3 T H 212 240 256 496K H Mk 1 T H 497 418 487 9054 2 T H 1,072 1,059 1,107  2,166[/h K4 T H 207 148 201 349
E W1 T H 700 664 646 1L,310K H M2 T H 821 744 751 1,495|5 J¢ 3 T H 864 910 902 1,812/ A5T H 75 72 83 155
E W2 T H 745 810 805 1,615 & M3 T H 1,143 1, 062 1,091 2,163|5 H 4 T H 0 0 0 O[E W1 T H 171 152 147 299
E W3 T H 403 457 450 07| H Mfr4 1 H 801 644 673 1,317|5 3 5 T H 161 47 137 184 R 2T H 245 258 244 502
E W4T H 808 783 865 1,648/ H M5 T H 1,057 961 993 1, 954 &t 5,146 5,264| 5,418 10,682|® R 3 T H 213 156 188 344
E W5 T H 522 502 526 1,028\ & #E 6 T H 412 433 387 820/)5 il 55, 746| 56,602| 55,842| 112, 444[/] B 1,781 1,551 1,640 3,191
E e T H 226 218 244 4621 » A 1 T H 387 380 380 7604 1 T H 364 390 362 752 A1 T H 202 149 206 355
E W7 T H 488 485 411 896 » i 2 T H 858 639 808 14478 2 T H 405 412 421 833k A2 T H 212 206 159 365
E W8 T H 280 293 274 567(Ff (i BT 1 T H 351 398 376 774 R 3 T B 460 490 475 965[p% A 3 T H 103 111 102 213
E W9 T H 4 4 4 8| [ BT 2 T H 795 858 853 L7110 HET 1T H 204 219 209 428[f A4 T H 49 41 46 87
K HE 1T H 308 313 293 606kl [id] T 3 T H 599 587 532 1, 119|F0 HEF2 T H 282 275 302 577[f A5 T H 70 59 71 130
KHEHE 2T H 336 303 290 593kl [id] BT 4 T H 476 408 405 813[HfE # 1 T H 186 221 221 442[p% A6 T H 36 38 35 73
K HHE 3T H 346 379 363 742 5 8,197| 7,532 7,736 15,268 %5 2 T H 210 222 255 ATTRE A7 T B 66 67 66 133
KHEHB 4T H 316 367 346 713% BT 1 T H 1,235 1,364 1,323 2,687(fF 4 3 T H 194 204 209 413[p A8 T H 88 97 74 171
K HE 5T H 316 346 342 688[%r M7 2 T H 845 923 835 1,758 %% 4 T H 229 254 235 489|/)5 3t 826 768 759 1, 527
T #EHETL T H 665 671 675|  1,346[% WT 3 T H 1,555 1,606 1,471| 3,077|kE 4% 5 T H 548 623 665  1,288|H 8k BT & FF| 8,894 8,818 9,012 17,830
T #HET2 T H 564 581 566 1,147(% W7 4 T H 727 765 763| 1,528k 4% 6 T H 570 622 565 1, 187|& #H 64,640 65,420| 64, 854| 130, 274
T WEHT3 T H 423 503 411 914(%r M7 5 T H 1,334 1,591 1,443 3,034[kh A BT 1T H 359 389 389 778
T W4T H 505 473 418 891(%r M7 6 T H 99 117 111 228\t AT 2 T H 508 386 511 897




